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1. (20%)

| For circuit below, where voltage gain Av = 10,

- find input resistance R; .

20k

2. (20%)

For circuit below, where transistor’s current gain po1 = Bq2 = 100, voltage across the base—emitter junction
[VBE, on| = 0.7 V, voltage across the emitter-collector junction [Vcgsaf = 0.2 V, input voltage Vi=-10V,
 find output voltage Vo .

3. (20%)
 For circuit below, where MOSFETs are in Saturation, all of NMOS transconductance gm =2 mA/V,

find output resistance Rout .
% 3kQ
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4. (20%)

' For circuit below, where resistance Ri = 50 kQ, Rir= 200 kQ, Rz =20 kQ, Rayr= 40 kQ,
 find output voltage Vo .
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5. (20%)
| For circuit below, where transconductance gm = 2 mA/V, output impedance ro = 20 k€2,

find voltage gain Av = Vout/Vin .




